X4 BRHR A1) 8 i FaEF EEME E=XE(FH)

BYSHSHEHSERRBERERMGSR) —REET LA REER ER SR AR A /KHT a2 FAtEE 425,000
BY £S5 (EEHE) —REETIRESEFER ER SR AR A /KHT e EER BEMET 100,000
BYLSHE (EEHE) —REETIRESTZER ER SR AR A /KHT e EERE BRMET 50,000
RBREMR R (EEME) —REETIRESETER ER S AR A /KHT wa BRI 400,000
RBREMFER (EEME) —REET LA REERR ER SR AR A /KHT e BRI 100,000
M EEEHRER (HE- M- JEHL) AR T B B P FR P 3T A 4R BR S AR A KHT FiH EiRiLEET 32,000
MM ETEEHRER (HER-H8- JERL) M EtENE R AR I AR ER SR AR A /KHT L] RIEEE 8,000




